a.      Year 
       Cash Flow 
      Present Value 

1 
          $10,000 
         $ 9,259 


2 

10,000 

8,573 


3 

10,000 

7,938 


4 

12,000 

8,820 


5 

12,000 

8,167 


6 

12,000


7,562 


7 

12,000 

7,002 


8 

15,000 

8,104 


9 

15,000 

7,504 


10 

15,000 

6,948 

Total 



        $79,877 
b. PV =$10,000 × [1-(1.08)-3 ] + $12,000 × [1- (1.08)-4 ] × (1.08)-3 



0.08


     0.08


+ $15,000 × [1-(1.08)-3 ] × (1.08)-7 




  0.08 
PV = $25,771 + $31,551 + $22,556 
PV = $79,878
c. For a long series of cash flows with embedded annuities it is more efficient to calculate and sum the present values of the separate annuities as in part b. This kind of problem can also be solved using the cash flow keys of a financial calculator.
